Mark Dixon vs Stuart Mann Premier 1 Match – August 2007
Mark Dixon (white) – Stuart Mann (red)

Position 1 – Mark 1 : Stuart 1  
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Red cubes in this position.
The race is marginal, but he has a better position and some threat with pointing on the 2 or hitting.

But, 4s are duplicated, so things aren’t too bad.  If he does hit the outer blot, white has a good chance of anchoring for a very playable game.

If he points on the 2-point, white then has around 8 shots which come in and hit red’s outer blot.

It’s a very easy take for white which makes it too early to double.  If red hits the 9 and white dances, red probably still will get a take, so he 

should wait for that.  
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What rolls are market losers for red? 44 certainly. Everything else might be a take. Compare
with his bad rolls like 6,5 or 5,3 and several other medioere rolls where white certainly is in the
game and very happy to own the cube.
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What rolls are market losers for red?  4,4 certainly.  Everything else might be a take.  Compare with his bad rolls like 6,5 or 5,3 and several other mediocre rolls where white certainly is in the game and very happy to own the cube.

If you are not giving your opponent a tough decision then it may not be the right time to cube

 – you could be either too early or too late.
Position 2 – Mark 3 : Stuart 1
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Certainly white has some huge threats here despite being behind in the race.  Lots of crushing rolls which are clearly very gammonish and are obviously market losers.
But white is already 3-1 up and is holding the cube on 2.  Dangerous territory, if red gets a take and holds on 4, he will ship it back to 8 with glee if things come his way.

White cubed here considering it’s better to “sugar” 2 points to 5-1 as he thought that red would drop.  With this match score, this is an error he should have taken a roll to see what could have happened.  Importantly, he has no bad numbers, so he can have a “free roll”.
However, if white would have been 6-1 ahead, it switches to “no-double / take” because the redouble threat is scary enough. 

Cube Decision at 8 away – 10 away:   
     Cube Decision at 5 away – 10 away:
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Position 3 – Mark 5: Stuart 2
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White cubes here.  He has a solid position with some threat.  It looks like he has lots of hitting numbers, but in fact there are only 7.
With red being 5-2 down this is a trivial take.  Even if he gets hit he has two anchors which can cause white hassle for quite some time.

This turns out to be a correct cube by white, but in retrospect, I think I would have preferred to wait a roll.

If I hit, Red might still take.  If I dance, I’ll be happy I did not cube.

Which is right?  To make the correct technical play, or to decide with the knowledge your opponent will take 

now AND if it improves a bit for me 

to play on and see?  Discuss…

….And so it did go wrong.  The next position shows the demise of my position and Stuart’s pounce with the recube on 4.

Position 4 – Mark 5: Stuart 2    - The recube
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This is an extremely volatile position.
If red hits with a 1 then he has very good win chances and also good hopes for a gammon (if he gets a prime or a 5-prime he can squeeze an extra white blot or two).

If he misses then he could lose a gammon.  White needs to roll very well to get out of trouble: 5,4 or 4,4 or 5,5 – there aren’t many.
What is amazing about this position is that it is a correct recube for red to 4 but a HUGE blunder to 2 if the cube had been central.

This is seems counter-intuitive.  In most situations, one must think more carefully before recubing as you give away your cube as a weapon and give it to your opponent.  Normally, central cubes are more likely to be doubles than owned cubes for this reason.

I think the secret here is that Red is 5-2 down in a very volatile position.  He should use this volatility to turn the cube up to match winning (or losing) proportions.  White on the other hand will hate this idea being ahead.  Red may even get a drop because of this.

If Red Owns Cube at 9 away, 5 away

Central Cube at 9 away, 5 away 
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Hypothetical comparisons below     (conclusion – excellent pressure cube from Stuart )

If Red Owns Cube at 11 away, 11 away

Central Cube at 11 away, 11away
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